
Nome, herl Dote:

Review f or Percent Test

Converting Percents Decimols & Froctions: 
,

Compf et e themissing informotion from the tobl e below. Simplify oll fr"octions. I
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Comporing Percents Decimols & Froctions:

9. Comporethe following with o < or >.
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Ordering Percents Decimols & Froctions:

t0. Order the following from leost fo greatest. Put bock in originol form!

33%,1 ,*, 0.,

.33 .3 .o3 .3



3Scenorios: @.

Scenorio 1: Solving f or the port
X = , lb .  gs

Find L6% of 85.

f , : . lG'85
{ : 13.6

Scenorio 2: Sofving f  or the whole
.oE.  X 3  2g
8% of whot number is 28?

o8x = 9-:_
.o g .og

X: 3SO

Scenorio 3: Solving f or the percent
X ' fu =15

Whot percent of 80 is 15?

tox = l5
rc8o
f ,=.1875 = 18.-75'/ .
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At o restquront, your dinner costs $45.95. ff you wont toleoveo20%tip,@
much should you leove? [f;ot is the totol omount of money you spent?

-{r p
. {-o}a\ :  Ll  5.1s + 9.1? = J SS't  t{

Commission:

A realtor sells o house for $750,000.. ff she eorns 4% commission.on her soles,

how much will she moke?
a

co rnrnr ssi on : .OLIQ 5o,ooo) = '3o,ooo



Discount ond Sole Price:

You 9o shopping for o new sweotshirt. The originol cost is $39.99. You use e-
off coupon. Find the discount ond sole prige.

d'rs.ro., i - :  . I5(39.99) '  5 '9egS *

So.Le, pcice-: 39'q 1 - G'oo ti33'99

tG.oo

Sales Tox:

ff you wont to buy on item thot costs

much is the tqx ond the totol? 
-costs $48.99 ond the tox rate is 8.L25%. how

$g.qg

$sa.9-7
*ax ' .  .osras ( q 8.9q) =

tro'fa\: {8.qq + 3'98 =

Discount Sole Price Tox Combo:

A store is hoving o 30% off sqle. Your mer 29.99. How much
is the discount? What is the subtolg!lq@ pl,ce?The tox rate is 7%. Find the

tox and the grond totol for your purchose.

dis.o.,.rh .3o(r as'qq): 3 8'9q j

Sc,,Le pc\cc : lag' 9 q - 39 'oo = d 9O 'q g

*ax : .08ras(9o.qq)-- s7':1

lolot: lo.q9 +?.3g =$98. 38

*$31 .oo
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Morkup:

A store's cost for o Ailgg$y'j. The morkup is 150%, Whot is the morkup?
Whot is the sellinq price for the item?

rvlacKrp: l .  so(ts) =tt la.5o

Sal l ,^$p. ,<c:  ?5+ ' f  
" '50 

= d lgZ'So

Percent of Morkup:

A store morks up on it"m f.rn j,L8 to $28. How much is the morkup? Whot is

fnack. ,p:  ?8-18 =8lo

LJhel  ' / .  of  18 is to ?
t8x=E ,= E= 55.5./.

l 8  t 8  r -  ' v

Percent of Change:

Bob weighed 210 pounds . He went on o diet ond now weiqhs 165 pounds @[€
the percent of change in his body weight?

. l  ^C_r  a , ,uroe,^+of 'Lo-a  a l  o - t65 tJs=.2  lL l  =  f l . r l . / .V/.oic^^r-- ffi-= 6=5o
U l

The requlor price for sneokers wos $50. The sole price is $35. Whot is the
percent of discount/chonqe?

_5o- 3s,- E = .3 = 3o./. V
50 50

Percent of Error: (Just like Percent of Change)

You estimote the size of your clossroorn to be 76 f eet. The octuol length is ZLft.

Find thepercent of ercor, Round to the nesrest tenth of apercenf .

percentof error=ffi= 
tr=.,t= *=.2381 

=23.8'/.
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